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Solutions to Tutorial b :
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2 . Ca) Not a well quasi - order
bai bad

'

b ba baa baaa . . . . . .

(b) Yes
,
it is a well quasi - order since subword is a wqo .
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(c) No
.
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X -Y =L X-7=2 X - y =3 . . . .
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Problem is undecidable .

Firstly ,
note that LCA) E Ll Ag) since every run of A is

also a run of Ag .

Hence : LIA) = LCAG) Iff Ll Ag) ELCA) .

We will reduce universality of TA . to this problem .

-

Suppose there is an algorithm to check it Ll Ag ) E CIA) .

Given automaton B
,

we want to check it TE * ELCB)
.

Repeat :
- Pick some guard g of B

- If Ll Bg) ¢ LIB) then return
"

Not universal
"

- Else 11 Ll Bg ) -- UB)

replace B :-. Bg
Until B has no guards

If B ( the unlined automaton) is universal , report
"

Universal

Else report
"

Not universal
"
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" 0--0
Every timed extension of awe UntimelyBD is present in LIB)
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